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PART- A 

Directions (For t(le 10 items which follow) : 

(i) In thi; Section, a number of sentences are given. The sentences are underlined in three 

separate parts and each one is labelled (a), (b) and (c). Read each sentence to find out 

whether there is an error in any underlined part. No sentence has more rhan one error. 

When you find an error in any one of the underlined parts (a), (b) or {c), indicate your 

responses on the Answer Sheet at the appropriate space. You may feel that there is no 

error in a sentence. Ln that case, (d) wil l signify a 'No error' response. 

(ii ) Error; may be in gmmmar, word usage or idioms. There may be a word missing or there 

may oc a word which shculd be removed. 

( iii ) You are nul re<.Juiu:d to correct the crror. You are required only to indicate your response 

on the Answer Sheet. 

1. None of tile applicants have turned up for the interview on time. No error. 

(a) (b) (c) (d) 

2. Her mother did not reply 

(a) 

when I asked her why was she weeping. No error. 

(b) (c) (d) 

3. The oxygen conu.:ru ur Mru> is not sufficient enough to support life as we know it. 

(a) (b) (c) 

No error. 

(d) 

4. He told his friends that each of them should be able to carry out the orders oneself. 

{a) (b) (c) 

No error. 

(d) 

5. If the police would have arrived on time the riot would not have occurred. No error. 

(a) {b) (c) (d) 
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When I asked the driver 6. 
(a) 

to come with me to the temple 

(b) 

he had been reluctant. 

(c) 

No error. 

(d) 

Children oflen 7. -----
(a) 

quarrel on petty issues. No error. 

(b) (c) (d) 

S. One day young Edison at a risk of his own life rescued the infant son of a station-master 

(a) (b) 

from almost under the wheels of a g<?Ods train. No error. 

(c) (d) 

9. Taking down my shoes 
(a) 

I would wade into tbe muddy water up to my knees 

(b) 

and pluck the water-lilies floating on the surface. No error. 

l think 10 . .:....:....::.=. 
(a) 

(c) (d) 

every one of these men are incompetent. 

(b) (c) 

No error. 

(d) 

Directions (For the 10 items which follow): 

Each of the following items consists of a sentence followed by four words or group of ｷｯｲ､ｾ Ｎ＠

Select the synonym of the word (occurring in the sentence in. capital letters) as per the 
context. 

11. PROXIMITY to the court house makes 
an office building more valuable. 

(a) difference 

(b) similarity 

(c) nearness 

(d) usefu I ness 
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12. STRIVE for excellence·. 

(a) cooperate with others 

(b) be patient 

(c) pay well 

(d) make efforts 

A - P-TSB-N-HBU 
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13. It is very discouneous to INTRUDE 
during someonc·s conversation. 

(a) find fault 

(b) disagree 

(c) interrupt 

(d) leave quickly 

14. If the client INSISTS upon being 
stubborn, I will also have to be tough. 

(a) disagrees 

(b) consists 

(c) persists 

(d) declines 

lS. It is difficult to deal with a STUBBORN 
child. 

(a) obstinate 

(b) indignant 

(c) abject 

(d) depressed 

16. Tile entrance examination will begin 
PRECISELY at eight-thiny. 

(a) usually 

(b) occasionall y 

(c) definitely 

(d) exactly 

P-TSB-N-HBU- A 4 

17. The Delhi airport authorities have 
CONFISCATED a large consignment of 
illegal weapons. 

(a) seized 

(b) discarded 

(c) concealed 

(d) destroyed 

18. Drink only TEPID liquids. 

(a) lukewarm 

(b) slightly cool 

(c) very hot 

(d) very cold 

19. Picasso's paintings can msptre a 
PENSIVE mood. 

(a) cheerful 

(b) thoughtful 

(c) depressed 

(d) confused 

20. Due to extreme pressure underwater 
divers are often SLUGGISH. 

(a) hun 

(b) careful 

(c) worried 

(d) slow 
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Directions (For the 10 items which follow) : 

Each of the follow ing items consists of a sentence followed by four words or group of words. 
Select the antony m of the word (occurring in the sentence in capital letters) as per the 
context 

21. The students' cou.ncil was DISSOLVED 
as the university closed for vacation. 

(a) rejected 

(b) continued 

(c) allowed 

(d) disbanded 

22. The older ways of thrashing wheat have 
become OBSOLETE. 

(a) extinct 

(b) outdated 

(c) fashionable 

(d) modem 

23. My family DISSUADED me from 
giving up the lucrative assignment. 

(a) persuaded 

(b) prevented 

(c) disagreed 

(d) agreed 

24. Not taking medicines regularly turned 
out to be HAZARDOUS for him. 

(a) grouchy 

(b) grotesque 
(c) safe 

(d) perilous 

25. His success is a TRIBUTE to his 
mother 's dedication for her children. 

(a) criticism 

(b) honour 

(c) praise 

(d) admiration 
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26. The developed countries should stop 
sell ing LETHAL weapons. 

(a) injurious 

(b) innocent 

(c) dangerous 

(d) harmless 

27. Use of narcotic drugs is PROHIBITED 
in the hostel rooms. 

(a) banned 

(b) impeded 

(c) permitted 

(d) restricted 

28. My son is gifted with an extraordinarily 
INQUISITIVE mind. 
(a) dull 

(b) unattractive 

(c) capable 

(d) curious 

29. Jobs are difficult to get as the economy 
is in great RECESSlON. 

(a) infl ation 

(b) deflation 

(c) jubilant 

(d) boom 

30. The boy RECOILED at the sight of the 
snake. 

(a) shrank 

(b) moved foJWard 

(c) pushed backwards 

(d) expanded 
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Diret,;tions: Supply suitable aw:iliarieslidiomslphrases for the next ten (10) items that follow: 

31. Trcspu<scrs _ _ __ he !lros.ecoHco.L 

(a) 'hall 

(b) might 

lc) ouglu 

(d) could 

32. h ---- r:oin. hut I don· t think it 

will. 

(a) shall 

lb) might 

(c) ought 

•d) could 

33. You -·--- to get better murks this 

yc:tr if you waut to achieve some 

!Xl Sition. 

(a) ought 

(b) might 

(c) could 

(d) ｾｨ｡ｬｬ＠

34. How he do such a thing which 

"as not expected of him ? 

la) shall 

(b) might 

(c) ought 

(d) cuuld 

35. Long 

,good fortune. 

(a) might 

(!-) may 

(c) should 

(d) .:.ut 

P-TSB·N-IIBU - A 

ｳｨｾ＠ liv e to enJoy her 
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36. She is suc lt an egoist that ｳｨｾ＠ usually 

ｩｮ､ｵｬｧ･ｾ＠ herself in _ _ _ _ 

(a) tell wlcs 

(h) throwing mud at 

(t" l rhrow int' a fit 
" 

(d) tall talk 

37. Examinations are fast approaching. 

please do not ___ _ 

(u) spend you:r time 

(b) while away your time 

(c) wipe off your time 

(d) make the most of your time 

38. She has ___ ber mother. 

(a) taken after 

(b) taken off 

(c) taken up 

(d) taken to 

39. The delay of the project was not my 

fault. J am no t the ki nd of pers(Jn to 

(a) let the grass grow under my Feet 

(b) look back on 

(c) look down upon 

(d) lie in wait 

40. She is so beauli ful that she 

among all her friends. 

(a) stands up to 

(b) stands out 

(c) straightens out 

(d) sticks our for 
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Directions: For the next tell (10) items insert suitable prepositions: 

41. I have been thillki ng 
proposal. 

(a) of 

(b) about 

(c) on 

(d) None of the above 

your 

42. I know she thinks a lot _ _ _ _ your 
work. so you will probahly get the work. 

(a) of 

(b) about 

(c) on 

(d ) None of the above 

43. A special commiuee is bc•ng set up to 
enquire 
prison. 

(a) about 

(b) into 

(c) of 

the ri01i ng at the: 

(d) None of the above 

44. They heard the Department of 
Transpon that their house was on the 
route of a proposed new road. 

(a) from 

(b) about 

(c) of 

(d) None of the above 
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45. Wht>n I pointed my camera -----
the baby. she bo:gan to .:ry. 

(a) towards 

(b) at 

(c) on 

(d) None of the above 

46. Despite the growth of tourism, there is 
still plenty to wonder on the 
beautifu l island of Hali. 

(a) at 

(bl about 

(c) for 

(d) None of the :above 

47. Her suspicious behaviour points __ 
her guil t. 

(a) to 

(b) at 

(c) out 

(d) None of the above 

48. I smiled back when she smiled __ _ 
me. 

(a) towards 

(b) at 

(,;) on 

(d) None of th.: above 

A - P-TSIJ-1'-HBU 
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49. We are looking the govern- 50. She is a lot beuer now. Nice of you to 

ment to help us. enquire her. 

(a) to (a) about 

(b) at (b) of 

(c) for (c) after 

(d) None of the :tbove (d) None of the above 

Directions : Each of the following six (06) items co11sists of a stem followed by four words. One 

of the four words can be used as a substilute for the stem. 

51. A place where public records are kept 54. One who is an expert in judging the 

and preserved. quality of food , wines, etc. 

(a) Exhibition (a) Expert 

(b) M useum (b) Vetcrenarian 

(c) Archive (c) Connoisseur 

(d) Auditorium (d) Examiner 

52. An institution where young offenders are 55. One who meddles or interferes In the 

sent to be lrained as good citizens. affairs of other people. 

(a) J uvenile-jai h (a) Interferer 

(b) Reformatory (b) Busybody 

(c) Orphanage (c) Crude 

(d) Brewery (d) Soothsayer 

53. A book giving informa1ion about every 
branch of knowledge. 56. One who is learning a trade. 

(a) Cartography (a) Amateur 

(b) Catalogue (b) Coach 

(c) Dictionary (c) Apprentice 

(d) Encyclopaedia (d) Leamer 

P-TSB-N-HBU - A 8 
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Dinctions : For tlu next four (04) items thai foUow : 

Read the following passage and answer the questions that follow : 

Wealth should not be an end in itself but only a means of satisfying one's as well as others' 
needs. It should be a means of creating a happy and humane society. Riches can be profitably spent 
in removing the wants of the poor and the needy, by providing them with food and clothing. 
by establishing hospitals for the sick, shelters for children who have none to look 3fter them. and old-
age homes to provide comfon and company to !he growing number of old and helpless people. Wealth 
can also be put to public use by establishing trusts to open up more and more educational institutions, 
to finance research work for promotion of science, health care and agriculture. When used only as a 
means of creating more and more luxuries and procuring objects of sensual gratification, it leads to 
corruption and sin. Even wealth used only to generate more wealth loses its intrinsic wonh. We should 
not forget that wealth came into existence to facilitate the fulfilment of human needs and development 
of society. 

57. By saying 'Wealth should not be an end 
in itself' the writer means that 

(a) One should not stop creating wealth 

(b) Creating more and more wealth 
should not be one's object 

(c) Wealth should not be used for 
personal use 

(d) Wealth is exhausted if not used in 
different tasks 

58. In 'Riches can be profitably spent' the 
word 'profitably' in this context means 

(a) Riches can be used in manifold 
ways 

(b) Riches can be used for financial 
gains 

(c) Riches can be used in beneficial 
way 

(d) Riches can be used to acquire fame 

9 

59. The central idea of the passage is 

(a) Wealth should not be used for 
personal comfon but foi comfon of 
others 

(b) Personal use of wealth leads to sin 

(c) Wealth should be judiciously used 
for personal as well as social and 
humanitarian purposes 

(d) Wealth should be used for others 
only after fulfilling one's needs 

60. The intrinsic wonh of wealth lies in 

(a) its use for charitable purposes 

(b) its use for enjoyment of life 

(c) its use for fulfilment of human 
needs aod development of society 

(d) its use for sel f-aggrandizement 

A- P-TSB-N-HBU 
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PART - B 

61. Which of the following are lhe re:tsons 
behind the Constitutional design of 
Rt1jya Subha ? 

I. Mature input in legislative and 
constituent process from more 
experienced persons. 

2. Tending some degree of continuity 
to the parliamentary work in view 
of lhe fact that the Rajya Sabha is a 
continuous chamber. 

3. Unequal weightage to votes in 
Rajya Sabha since there is equal 
number of seats given to all states. 

Select the correct answer using the 
code given below : 

(a) 1. 2 and 3 

(b) I and 2 only 

(c) 2 and 3 only 

(d) 1 and 3 only 

62. Which of lhe following fundamental 
transformations of India's social order 
have significant implications for Indian 
democracy? 

L The increasing political mobiliza· 
tion of India's lower castes and 
minorities. 

2. Rising literacy rates. 

:1. Widening exposure of the I ndi:tn 
electorate to mass media. 

P-TSB-N-tfBU- A 10 

Select the ｣ｯｲｲｾ｣ｴ＠ answer using the 
code given below : 

(a) I , 2 and 3 

(b) I and 2 only 

(c) 2 and 3 only 

(d) 1 only 

63. Since the year 2000. India's democracy 
is becoming more representative and 
perhaps more accountable Ill its people. 
Which of the following facts about 
India's electoral system suhstanuar.: this 
statement? 

I. The voter LUm-out in the national 
elections has remained around 60% 
and lhe poorest l/4th of Indian 
Population have registered a higher 
voter ntm-out compared to lhe 
richest l/4lh. 

2. The Indian electOrate has grown 
from 671 million people in the year 
2004 to 714 million in the year 
2009. 

3. In the electoral verdict of 2009 for 
lhe ftrst time in 25 years :1 coalition 
of p:lrties that had completed its full 
term had come back to power atlhe 
centre. 

4. The Right to Educ:ltion.the National 
Rural Employment Guarantee Act 
and the Right to Infomtation have all 
been passed in the last decade. 

Select the correct answer using the 
code given below : 

(a) I and 3 only 

(b) 2 and 4 

(c) 1 and 4 only 

(d) 1.3and4 
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64. Which of lhe followi ng ideas is/ are 
closely associated with the idea of 
secularism in India ? 

l. Equality of citizenship and non· 
discrimination. 

2. Non-involvement of State in 
religious matters including personal 
law. 

3. Freedom of belief and worship. 

4. Equal and free access to educa· 
tiona! institutions till lOth standard 
or its equivalent. 

Select the correct answer using the 
code given below: 

(a) 1, 2 and3 

(b) I and 3 only 

(c) 2. 3 and 4 

(d) I only 

65. Consider the following statements about 
Mahatma Gandhi : 

I . Non-violence to him, is bolh an 
instrumem of action as well as a 
personal creed. 

2. He was opposed to violence, and 
class wars, and resisted mass 
political action. 

3. He was a nationalist, therefore he 
believed in a ccntr.al ized polity. 

4. He rejected the practice of 
Untouchability and called for the 
abolition of Vamashramadhanna. 

Which of tbe above can be implied from 
a reading of Gandhian thought ? 

(a) I only 

(b) I, 2 and 3 only 

(c) I and 4 only 

(d) I, 2, 3 and 4 
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66. Which of the following paradigmatic 
shift is not seen in Tndian democracy 
as yet? 

(a) From a quasi-federal parliamentary 
model of govemmem to a compe-
tit ive federal parliamentary •node! 

(b) From a centrali zed state system to 
an open government system wi th a 
strong civi l society 

(c) From a protectionist economic 
pol icy regime to a market-driven 
policy regime 

(d) From a semi-literate casteist society 
to a near universal educated class 
society 

67. Who among the following were the 
five founder leaders of Non-Ali gnment 
Movement? 

l. Mountbmten 

2. Jawaharlal Nehru 

3. John F. Kennedy 

4. Sukamo 

5. Kwame NKrumah 

6. Churchill 

7. Josip Broz Ti to 

8. Gamal Abdcl Nasser 

Select lhe correct answer using the 
code given below: 

(a) 1. 2, 3, 4, 5 

(b) 1, 3,6,7.8 

(c) 2. 4, 5. 6. 8 

(d) 2. 4, 5, 7, 8 
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68. Which of the following is/ are correct 
about Indian politics? 

l . Since the year I 989. there is a trend 
towurds hi-coalit ional pattern at the 
Ccntrt•. 

2. Regional diversities have come to 
be better represented in national 
coalitional regimes. 

Select the correct answer using the 
code given below : 

(a) l only 

(b) 2 only 

(c) Both I and 2 

(d) Neither l nor 2 

69. Which of the foll owing movements 
were led by Mahatma Gandhi ? 

l . Charnparan Movement 

2. Salt Satyagraha 

3. Quit India Movement 

4. Tebhaga Movement 

Select the correct answer using t.he 
code given below : 

(a) 2 and 3 only 

(b) 2, 3 and 4 

(c) I and 4 only 

(d) l , 2 and 3 
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70. Which one among the followi ng sectors 
in India was allocated highest resources 
during the l l th five year p lan '' 

(a) Rural development 

(b) Irrigation and flood control 

(c) Energy 

(d) Transport 

71. In the short run. marginal cost 

(a) equals marginal variable cost 

(b) is independent of fixed cost 

(c) equals marginal variable cost and is 
independent of fixed cost 

(d) equals the first derivative of the 
total cost 

72. The consumer price index is designed to 
measure the degree to which 

(a) incomes are distributed among the 
poor and rich over time 

(b) The cost of purchasing a bundle of 
consumer goods has changed with 
time 

{c) consumption patterns have changed 
with time because of higher prices 

(d) consumer prices have risen. relative 
to wages 
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73. Which one among the follo wing best 
explains 'Money' ? 

(a) It is a medium for producing capital 
goods 

(b) It is a means for redistributing 
wealth among people 

(c) It is a common denominator for 
measuring value 

(d) It is a mechanism for resource 
allocation 

74. The trade··Off between inflation and 
unemployment is known as 

(a) cost-push inflation 

(b) demand-pull inflation 

(c) Phillips curve approach to inflation 

(d) Stagflation 

75. Which one among the foll owing 
agencies is known as 'soft credit 
window' of the World Bank ? 

(a) 1l1e lnternational J"i nance Corpora-
tion 

(b) The International Bank for 
Reconstruction and Development 

(c) The International Development 
Association 

(d) The Multil ateral Investment 
Guarantee Agency 
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76. Which one among the foll owing food 
crops is not categorized under 'mille ts' ? 

(a) Ragi 

(b) Wheat 

(c) Bajra 

(d) Jowar 

77. The OPT vaccine, a mixture of three 
vaccines, is used to immunize against 
three medical conditions/diseases. These 
medical conditions/diseases are 

(a) Diphtheria, Pneumonia, Tuber-
culosis 

(b) Diarrhoea, Pertussis, Tetanus 

(c) Diarrhoea. Pertussis, Tuberculosis 

(d) Diphtheria, Pertussis. Tetanus 

78. Consider the following statements wilh 
regard to chromosome of bacteria : 

L Bacteria always have a single 
chromosome. 

2. Bacterial chromosome is circular. 

Which of the statements given above 
is/ are correct ? 

(a) I only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither I nor 2 
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79. ln an accident, a person's brain was 

injured due to which he could nor 

regulate body temperature, hunger and 

water bulance. Which one among the 

following pans of his brain was 

affected'! 

(a) Cerebellum 

(b) Medulla oblongata 

(c) Hypothalamus 

(d) Corpus callosum 

80. Cockroach. Housefly and Mosquito are 

insecrs because they have 

(a) chitinous exoskeleton and body 

divided into head and cephalo-

rhoraxes 

(b) six legs, two pairs of antenna! and 

body divided into head, thorax and 

abdomen 

(c) segmemed body. six legs and body 

divided into head. thorax and 

abdomen 

(d) thrca pairs of legs. one pair of 

antenna! and flame cell s 

81. ' Hinny' is derived from 

(a) male donkey and mare 

(b) lion and tigress 

(c ) tiger and lioness 

(d) stallion and female donkey 
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82. The vitamin which is water soluble and 

generally excreted in urine is 

(a) vitamin A 

(b) vitamin C 

(c) vitamin D 

(d) vitamin E 

83. Which one among the following is not a 
constituent in automobile emission ? 

(a) Carbon monoxide 

(b) Hydrogen peroxide 

(c) Ben1,ene · 

(d) Nitrogen dioxide 

84. What was the hallmark of the Buddhist 

Council held at Patliputra under 

Ashoka's patronage ? 

I. Sullo Piloka, a collection of 

Buddha's sermons on mauers of 

doctrine and ethics was compiled. 

2. A schism took place and Buddhism 

broke into Sathaviradins and 

Mahasanghikas. 

3. Expulsion of heretics and the 

establishment of the Sthaviravada 

school as orthodox. 

4. The last section, K01havot1hu was 

added to rhe Pali scripture, 

Abhidhamma l'ilaka. 

Select the correct answer using the 

code given below : 

(a) I, 3 and 4 

(b) 2 only 

(c) I and 2 

(d) 3 and 4 only 
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85. Which of !he following statements 
is/ are correct ? 

I . Sravana Belagola is famous for its 
Jaina heritage and history. 

2. Ajanra is famous for Jaina 
sculptures and paintings. 

3. Mamallapuram is famous for its 
rock-cut monolithic Buddhist 
temples. 

Select the correct answer using the 
code given below : 

(a) I only 

(b) 2 only 

{c) I and 2 

{d) 2 and 3 

86. Which one among the following is/are 
true about the Samhal uprising of 
1855-56? 

l . The Santhals were dctennined to 
expel the British Government. 

2. The Santhals believed in the 
coming of SaJyayug. the reign of 
truth and true justice. 

3. The Santhals did not get the 
support of the non·tribals, such as 
the Gwt1/as {milkmen) and Lohars 
{blacksmiths). 

Select !he correct answer using the 
code g.iven below : 

(a) I, 2 and 3 

(b) I only 

(c) 2 and 3 only 

(d) I and 2 only 
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87. Which one among the following was 
not an outcome of the Battle of Plassey 
in 1757? 

(a) The Mughals were cut to size 

(b) The Battle paved the way for 
British rule in India 

{c) The Battle enabled the British to 
use the revenue of Bengal to raise a 
strong army 

(d) The Battle raised the British to the 
status of a major contender for tbe 
Indian empire 

88. Which among the following is not a 
contribution of Kushanas to Indian 
culture? 

(a) Turban and Trousers 

(b) Use of reins and saddles in cavalry 

(c) Devnagari script 

(d) Use of curtain in theatre 

89. Which of the foUowing is/are unique to 
the Mathura school of art ? 

I. Combination of Hellenistic, west 
Asiatic and native elements. 

2. Earl iest, entirely Indian representa-
tion of the Buddha. 

3. Use of spotted red sandstone as the 
material for making images and 
starues. 

Select the correct answer using the 
code given below : 

(a) I and 2 

(b) 2 and 3 

(c) 2 only 

(d) 3 only 
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90. The significance of Asboka's adminis-

tration lay in 

(a} the majestically sculptured Ashokan 

pillars and rock inscriptions 

(b) the spread of Buddhism in India 

(c) infusing the idea of social 

responsibility through the concept 

of Dluanma 

(d) his concem in making Buddhism 

the state religion 

The following 04 (Four) items consist of two 

statements, statemem 1 and statement II . You 

are to ･ｾ｡ｭｩｮ･＠ these two statements carefully 

and select the answers to these items using the 

code given below : 

Code: 

(a} Both tbe statements are indiv idually 

true and statement II is the correct 

explanation of statement I 

(b) Both the statements arc individually 

true but statement n is not the 

correct explanation of statement I 

(c) Statement I is true but statement U 
is false 

(d) Statemem I is false but statement II 
is true 

91. Statement I : According to Buddhist 

teaching, salvation lay 
in achieving nirvana, or 
freedom from !he cycle 
of rebinh. 

Statement II : The doctrine of karma 

was essemial to the 
Buddhist system of 
salvation. 
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92. Statement I : The 'Quit India' move-
mem ( 1942) was per-

haps the most powerful 
mass movement faced 
by the British in India. 

Statemem 0 : The mass upsurge in the 
'Quit India· movement 
made the British realize 

the inevitability of 
Indian independence. 

93. Statement I : The Brahmo Samaj was 

a socio-reformist organi-
sation of the ninereenth 

century Bengal. 

Statement II : The nineteenth century 

India witnessed an up-
surge in socio-reformist 
movement. 

94. Starement I : Plantation farming has 
mostly been practised in 

humid tropics. 

Statement ll : The soil of humid 
tropics is fertile. 

95. Which one among !he following 

countries is not a member of the Bay 

of Bengal Initiative for Multi-Sectoral 

Technical and Economic Cooperation 

(BIMSTEC)? 

(a) Bangladesh 

(b) Malaysia 

(c) Nepal 

(d) Myanmar 
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96. In India Regur soil is found in 

(a) Deccan Plateau 

(b l Indo-Gangetic plain 

(c) Himalayan region 

(d) Coastal plains 

97. Arrange the following Himalayan 
,·egetation type in the descending order 
on the basis of the altitude beginning 
from the highest 

1. Coniferous forests 

2. Alpine vegetation 

3. Tropical forests 

4. Evergreen forests 

Select the correct answer using the 
code given below : 

(a) 1 - 2 - 4 - 3 

(b) I - 2 - 3- 4 

(c) 2 - I - 4 - 3 

(d) 2 - 1 - 3 - 4 

98. In hill areas soil erosion can be 
minimized by. which of !he followi ng 
methods? 

I. Terracing 

2. Contour ploughing 

3. Strip farming 

4. Planting perennial species 
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Select !he correct answer using the 
code given below : 

(a) I, 2 and 3 only 

(b) 3 and 4 only 

(c) I, 2 and 4 only 

(d) I , 2, 3 and 4 

99. In the vicinity of iron ore mining areas 
which one among the following 
elements would be high in ground 
water? 

(a) Calcium 

(b) Nirrate 

(c) Auoride 

(d) Arsenic 

100. Which one among the follow ing is the 
correct sequence of basins of major 
rivers of India beginning from south to 
north? 

I. Tapi (Tapti) 

2. Godavari 

3. Ganga 

4. Kaveri 

Select the correct answer using the 
code given below : 

(a) 2 - l - 4- 3 

(b) 4 - 1 - 2 - 3 

(c) 2 - 4 - 1 - 3 

(d) 4 - 2 - I - 3 
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101. Match List I with Li st II and select the 

correct answer using the code given 

below the Lists: 

List I 

(!/ill I Rang<' I 

A. Mnhadeo 
hi ll s 

B. Vindhya 
range 

C. Ylaikal 
range 

D. Satpura 
range 

Code: 

A 

(a) 4 

(b) ｾ＠

(c) 2 

(d) 2 

3 

3 

List II 
(/.0('(1/iOil Ill /11{/p) 

c D 

2 

3 2 

4 

3 4 

102. Drastic change in water level, large scale 

fluctuations of oil flo w from oil wells 

and discharging of ｲｾ､ｩｯ｡｣ｴｩｶ｣＠ Radon 

gas are associated with which one 

among the following natural hazards ? 

(a) Volcanic eruption 

(b) Earthqu<lkc.s 

{<.:) Tsunamis 

(d) Drought 
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103. Which one among the following is 

the common chamctcristic amongst 

Klwmbltat. Anklrslrwar, Kalol (Panch 

Mllh(l/ district) and Mehsana of 

Gujar:u "! 

(a) All arc pon towns 

(b) They are major on shore oil and gas 

fields 

(c) TI11:y are petroleum refining cenrres 

(d) They are connected to Mumbai 

High by Gas pipeline 

104. Industrial and technological advance· 

ment has brought about a rapid 

explormion of forest resources. Which 

one ｾｵｮｯｮｧ＠ the follow ing is not the 

impact of above phenomenon ? 

(a) Declining wild life 

(b) Increase in ground water level 

(c) Declining biodiversity 

(d) Increasing surface water flow 

105. Which one among the following is a 

case of social exclusion ? 

{a) An ethnic group demanding exclu-

sive rights O\•cr a particular territory 

10 the exclusion of other groups 

living in that te.rritory 

(b) An individual or a group being 

cut-off from enjoying opportunities 

open to the majotity of the popula-

tion 

(c) Homeless people prevented from 

sleeping on the pavement 

(d) An individual or a group volun-

tarily excluding itself from 

participating in a ｳｯ｣ ｩｾｬ＠ festival 
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106. The phrase 'tribe-caste continuum· in 
the context of the Indian Society refers 
to the process 

(a) by which a tribe imitates the 
different features of life of a caste 
group 

(b) which explains the social comi-
nuities between tribes and castes 

(c) by which various tribes and castes 
continue to change their social 
status 

(d) which explains the economic 
interaction between tribes and 
castes 

107. Which one among the following is true 
of a matrilineal society ? 

(a) Women ｾｲ･＠ always in control of 
property 

(b) Marriage between mother's 
brother's daughter and sister's son 
is an established custom 

(c) Only inheritance is passed in the 
mother's line of descent but men 
are still on control of property 

(d) Not only inheritance is passed in 
the mother's line of descent but she 
is also in control of property 

108. Which one among the following is a 
characteristic of Indian caste system '! 

(a) This-worldliness 

(b) Equality 
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(c) Hierarchy 

(d) lndividuulism 

109. Which of the following indicate adult 
socialization '! 

I. An orphan hoy adopted by a 
｣ｨｩｬ､ｬｾｳｳ＠ couple. 

2. A docwr transfeJTed from a rural 
hospital to an urban hospital. 

3. A girl who joins monastery to 
become a nun. 

4. A cricketer who is selected to play 
t.he test match. 

Select the con·ect answer using the 
code given below : 

(a) 1, 2 and 3 

(b) 3 and 4 

(c) I and 3 only 

(d) 2 and 3 only 

110. Which one among the following tribes 
practices fr.ltemal polyandry ? 

(a) The Bhil 

(b) The Toda 

(c) The Mu11da 

(d) The Oro()lz 
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111. Consider the following statements: 

L. If there is inadequate rainfall. the 

vcgt{able prices will increase. 

2. The price of vegetables has in-

creased. 

Which of the follow ing, in your opinion, 

logically follows from these statements ? 

(a) Definitely there has been in-

adequate rainfall 

(b) Increase of price of vegetables is 

not caused by inadequate rainfall 

alone. so nothing conclusive 

follows 

(c) No counterexample can be shown 

(d) There has n01 been inadequate 

rainfall 

112. There are 20 pieces of sweets to be 
given out to a group of 20 persons. 

However, the rule of distribution is that 

a man gets exactly 3 sweets. a woman 

gets 2 sweets and an infant gets half a 

piece of sweet. Which of the following 

gives the correct combination of men, 

women and infant satisfying all the 

conditions ? 

(a) 6 infants. 4 women and 4 men 

(b) 7 women, 4 men and 9 infants 

{c) I man, 16 infants and 4 women 

(d) 5 women, I mao and 14 infants 

113. 8 is shorter than T. U is taller than B. 
T is shorter than S. <.ii ven these, which 

of the following can be inferred 

logically ? 
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(a) U is taller than T 

(b) U is shorter than T 

(c) B is shorter than S 

(d) S is taller than U 

114. If A takes the bus, he will be late. Which 

one among the following is logically 

implied? 

(a) If A takes the melro. he will not be 

late 

{b) If A is n01 late, he must have not 

taken the bus 

(c) If A does not take the bus, he will 

nO! be late 

(d) If A is late, he must have taken the 

bus 

115. Which one among the foll owing may be 

correctly inferred if the statement 'Some 

patients with hypertension can be 

effectively treated with Amlodipine' is 

true 7 

(a) It is false tbat no patients with 

hypertension can be effectively 

treated with Amlodipi ne 

(b) lt is false that all patients with 

hypertension can be effectively 

treated with Amlodipine 

(c) II is true that all patients with 

hypertension can be effectively 

treated with Amlodipine 

(d) It is false thnt some patients with 

hypertension can be effectively 

treated with Amlodipinc 
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The next three (03) questions arc based on 
the following : 

A pulley fixed to !he ceiling carries a thread 
with bodies of masses m1 and m2 (m1 > mzl 
attached to its ends. (Neglect the mass of 
pulley and thread. Friction is negligibly small) 

116. What is !he acceleration of !he centre of 
inen.ia of the system ? 

(b) (m1 +mdg 

h -md 

(c) 
(mt - mz) g 

(mt +m2) 

(d) 
(m1 +m2 ) g 

(mt - m2) 

117. What is the tension in the lhread? 

(b) 
(2mtm2) 8 

(mt +mz) 

(m1 - m2 ) g (c) 
(mt + m2) 

(d) 
(m1- m2) 2g 

(mt +m2) 
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118. Consider !he foll owing statements : 
l . The acceleration of mass m 1 is 

equal and opposite to !hat of mass 
m 2. 

2. The acceleration of centre of mass 
of the system is less than that of 
mass mt. 

Which of !he statements given above 
is/ are correct ? 

(a) l only 

(b) 2 only 

(c) Both l and 2 

(d) Neither l nor 2 

119. Two masses m1 and m2 are attached to 
the end of a string which passes over a 
fri ctionless pulley. lf the pulley is placed 
oo the rocket accelerating upwards at 
acceleration equal to that of gravity, then 
tension in the string is 

(m1 +m2) g 
(a) 2(m, + mz) 

(b) 

(c) 

(d) 

2(m1 + m2 ) g 
(m1 + m2 ) 

(mtm2) g 

(mt + mz) 

4(m1m2) g 

(mt + mz) 

120. The proper inflation of tyres saves fuel 
because 

(a) normal reaction decreases 
(b) nonnal reaction increases 
(c) sliding contact wi th road decreases 
(d) sliding contact wilh road increases 

A - P-TSB-N-HBU www.examrace.com



SPACE FOR ROUGH WORK 

P-TSB-N-HBU - A 22 
www.examrace.com



SPACE FOR ROUGH WORK 

P-TSB-N-HBU - A 24 
www.examrace.com


